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Instructions r TITZT ‘I‘l‘l‘l'r -|-3-|- ‘I‘3T — T Tz‘l‘l‘l
Build a single loop along F++++++++++ 4+ 4+ 4+ + A
the grid lines that does not F + 4+ + _|_2_|_2_|_ 4+ _|_°_|_ + _|_3_|_ + _|_3_|
branch, dead-end, 3 3 2 3
b w s RN AL L A M
F+++++++++++ 4+ + + A
ThispuzzleisdediFatedtu |_2_|_ + + _|_2_|_ 4+ 4+ 4+ _|_2_|_ + _|_3_|_2_|_1_|
Reesylou for her birthday! | 2 3 1 3 2 2 2 2
wasn't sure whether she'd F +3+ -+ +2—|— —I—2+2—|— +3+2—I- + + +
prefer a regular or a vertex F 4+ + 4+ 4+ 4+ 4+ 4+ 4+ 4+ + 4+ 4+ 4+ 4+ 4
slitherlink more, so this |_2_|_ T _|_2_|_ _|_1_|_ L4444 _|_3_|
puzzle may be solved as v, )t 23 33 2 322
either of the two. Regular Solve online: https://1.puz.fun/990r
Regular: clues denote how
many of the sides of the
cell must be drawn as part r TszT "'l‘l'l"' "'3‘" T3T T T ‘l'z‘l'l‘l
of the loop. S e S S S S e
Vertex: clues denote how |_3+ +3+ Tt +z+1+ T +3+ +1+ + A
many of the vertices F +1‘|‘3+ + + +3+ +3+ +2+1+ + ‘|‘3‘|
(corners) of the cell must F+ 4+ 4+ 4+ 4+4+++++++ 4+ + A
he visited by the loop. 2 2 2 3 2 1
F +2+3+ +1-|- + +3+2+ + +2+2+ +2-|
F +3-|- + +2+ +2+2+ +3+2+ + + +
|-2++++2++1+—I—++++++3-|
F+++ 4+ 4+ 4++4+4+ 4+ 4+ 4+ 4+ 4+ 4
Ll_L _Ll_L _LZ_LB_L L _LB_L _LZ_L 1 L _Lz_l
Vertex Solve online: https://1.puz.fun/990v
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